JERRYGREER'SENGINEERING©2020

Generotor Drive
Revisecd: 10-20-2020

MOTORCYCLE FRAME

GENERATOR
16 —=] *

|

o

—
“ 8 14 17 -— 20~21
| CET

5 5/‘:5 =
WIS <~— BATTERY
J ~— INNER
- OUTER
- | ~ | PRIMARY Pgém?
( o COVER

VIEW FROM LH SIDE
BELT COVER AND OUTER PRIMARY
COVER REMOVED FOR CLARITY

Page 1 Created On: 05/18/2024 - Copyright 2024 Jerry Greer's Engineering




Jerry Greer's Engineering - 1947 Chief - Generator Drive

Ref Part # Qty Description Price
1 605012 1 NUT, 3/8"-24(Jam) $1.00
2 37112 1 SCREW, 3/8"-24 X 0.627"(Slotted), sprocket adjusting; Cad Plated $6.75
3 39314 1 BUSHING, generator sprocket shaft, outer $12.00
4 JG-2928 1 SHAFT SPROCKET ASSEMBLY, ready to install $110.00
5 JG-3674 1 RIVET, 5/32" X 1/2"(Round Head) generator drive sprocket (package of 3) $0.50
6 39323 1 GENERATOR DRIVE SPROCKET, 25 teeth $40.00
7 39324 1 SHAFT, generator drive at primary case $65.00
8 538003 1 KEY, 3/32 X 5/16(Woodruff) #207 $0.75
9 JG-2431 1 THRUST WASHERS, generator drive sprocket $16.50
10 JG-2432 1 THRUST WASHER, .508" I.D, .031" thick, generator drive sprocket $3.25
11 JG-2433 1 THRUST WASHER, .508" I.D, .062" thick, generator drive sprocket $6.50
12 JG-2434 1 THRUST WASHER, .508" I.D, .093" thick, generator drive sprocket $8.50
13 39313 1 BUSHING, generator sprocket shaft, inner, (original), use without seal $18.50
14 JG-2498 1 BUSHING, generator sprocket, modified for use with seal, (P/N JG-2441) $17.00
15 JG-2441 1 SEAL, generator sprocket shaft, use with bushing, (P/N JG-2498) $10.00
16 480004 1 GENERATOR DRIVE BELT GUARD, ; Bare Finish $160.00
17 41870 1 GENERATOR DRIVE PULLEY, 2-7/8" O.D.; Cad Plated $45.00
18 922007 1 WASHER, 5/16" Split Lock; Cad Plated $0.75
19 606010 1 NUT, 5/16"-24(Hex); Cad Plated $1.25
20 42603 1 GENERATOR DRIVE BELT, $12.00
21 JG-2699 1 GENERATOR DRIVE BELT, cogged, $18.00

Page 2 Created On: 05/18/2024 - Copyright 2024 Jerry Greer's Engineering




